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Aptitude

S.A. T. (Schol ati
Test)



(a)

(b)

b-1
D)
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Diophantus of Alexandria

250 275

2
a-Khowarizmi Moham

medibn Musa 783 850

820
(©)]
Tartaglia Niccolo
1499 1557 1541
Cardano 1501 1576
1545
Cardano Ferrari
1522 1565
4
Niels Henrik Abel 1802
1829 1824
b-2 2

(1) (
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(a)

56" 78=4368=78" 56

5°9=45=9"5
a" b=b"a

Einstein
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192111 Fermat’s Last Theorem
10 1601-1665
3 1637
n
E m 6 n X"+ yn =7
(b)
90
1950
_ 1993 6
23
9 ) (A.Wiles)
9 -
9 1995 5
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(1 abcd alb < c/d
a/lb < (at+c)/(b+d) < c/d
(20 O0<x<1 X (1-x) 1/4

1-x X
X
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- G  ABC
AG+BG+CG=0 G
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Cauchy-Schwarz
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c b
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H Minkowski

Jules Henri

Poincare
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problem solving
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(d)
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1.
@) 1905
1929 12 Sturm
1931
1936
7 —
(@)
@ 1902 1998
1924
1931
1945
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1946 6

1950

89

177

140

11

694

659

1995 1

Einstein

HisLife & Times

1996 1
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